2. Amar is too selfishtobea friend.

1 3 Removal of Too

Moy 7 T W & g1 &1 ¥A @4 § zovwr wA@ Noun/ Z -
r r“,: : rw- A :!‘ -!:q Amar is so selfish that he cannot be a friend,
Tonou v « BY bR . . T
’ . to climb.
Cotton 1s grown in India too. #3907 57T o it ggATAT AT | 3. :‘:Dunt E\ Ert‘;i: :f ii?jh?;;lgahehi:nne cannot climp; |
' 3 Mount Everest IS = e L
He, too, had been to Delhi.a® ot R=frg =T ari Moaint Everest is:80 high thiat we Tansol itk i; ;
*m sentences ¥ 797 "too’ ‘also’ #1 waTT &7 F2rM A R 4. The sun is too hot to go out.
o 2 % oo’ =1 AR wET FIm A TR R The sun is so hot that one cannot go out.
Cotton is grown in India also. i t that we cannot go out.
; 8 ; The sun is so hot t 8
1'.']!" ai;'h(). 'I(\d t“?en to Delhl. N . 5- H'E i‘:‘- tt)ﬂ fat to Stmd
Too & B2/ % aw ¥ fw o & w4 § s afraew T8 g He is so fat that he cannot stand.
|t s o TR 6. 1am too busy to meet you.
Too' &1 Adverb of degree 81 a1 R | [ am so busy that I cannot meet you.
Transformation = To change the structure of the sentence 7. He is too tired to work

He is so tired that he cannot work.

8. Itis never too late to mend

5 ; i t mend onesel
Rule (1) afz Sentences—* Subject + Vi : It is never so late that one canno 4
oy o vl LAdfctives It is never so late that it cannot be mended.

dverb + Infinitive (to + V')’ % structure T =i &, &1 “Too’ ) bribe
¥ T kI WA B - 9. He s too honest to accept a bribe. ;
He is so honest that he cannot accept a bribe.

He is too weak to walk.
A% T FAAT K O wm T ww | 10. She is too proud to learn.
She is so proud that she cannot learn.

It is too hot to go out.
mfi gah wfers & 5 # amy T o0 AEE A1 W I 11. Sohan was too weak to play.
Sohan was so weak that he could not play.

ithout altering the sense.

How to remove “Too’

Step (1) - 5% fi“b]"-"'-t + Verb % surT &t | 12. She is too busy to look after her children.
Step (2) © too H1 B2PET sO B T4 H | She is so busy that she cannot look after be
Step (3)  5g Adjective/ Adverb %1 garT &7 | children. '
Step (4) - g9% A ‘that’ %1 w2 &7 | 13. He is too good to kill anvbody.
Step (5) - That % =1z Subject % gw Pronoun H TaF He is so good that he cannot kill anvbody.
1 14. We are too poor to keep a servant. ' -
Note : (i) 74 =1 71z %79 % o %73 & g% %9 Pronouns— We are so poor that we cannot keep a servant.
ne, we I, he, she, ...... etc. w1 v @ m "% B 15. The fact is too evident to require proot.
Step (6) - Tense % FAf4% cannot or can’t, could not or The fact is so evident that it does not require pred

16. You are too lazy to walk.

You are so lazy that vou cannot walk.
17. The tree is too high for me to climb.
The tree is so high that I cannot climb it.

 couldn’t 1 garT &7 |
Present Tense—can’t
frast Tense—couldn’t

(ii) can’t A= couldn’t % @@ %d & W FA & By will 18. Sheis t
not, don’t, doesn’t (Present Tense #) a1 would not, did not, it szﬂv{]c;ungﬂt:u understand.
(Past Tense &) &1 wipn &7 % gonfas fEar 7 wea & 19. Itis too c- 1d :‘B N
- X . : old to go out.
bt(:p.f?i :‘to” Y %21 &7 9ge Verb &1 wETT %7 | Infinitive It is s0 cold thafi‘me cannot
with to @1 Infinitive without “to’ § 738 %7 fad | It is so cold that we cannot fj‘ :::L
N : s ) ) BEO out.
(iii) wary & yotew nd oz A & U Sy i, 20. He was too late to catch the train :
oneself sf? &1 sarm P wewa R Ee was so late that he could not catch the i
AW steps B WAV F7 ITAW A A ‘too’ B A g M s € was so late that he did not catch the truin
o &, wna ule (2): R sentences—Subject + Vierk - foo-+ A9

He is 8o weak that he can’t walk. + for + Noun’# structure W swnfta 1, #t“to0’ %176 ﬂﬂ"'ﬂﬂ :

ftis 50 hot that we can’t go out. LURY “}Fﬂ«-‘ : e

¢ ared) &1 A R AR, @ s Ram He is too dull for a sportsman.
1. The news is too good to be true. IF TN g6 & B a5 fwers o v wwws o4

The news is so good that it cannot be true. ;m tc'f) slow for a runner. 3
T AT £ A e 9 e wwmar




Removal of Too 223

spep (1) 7T Subject + Verb &1 wipr 53 |
step it too F BZHT 50 H ggpT F¥ |
rep 1) 5T Adjective &1 g ¥
aep A1 that @ WA &Y
Sep (5)  ¥5% A% Subject # g Pronoun &7 sy ¥ |
Note : (i) 7% o1 5 B W Y & Ry ey &
e we b he, she etc. &1 mamT Rear w ey & T
step (6) - Tense & Y1f¥% cannot/ couldn’t F1 sy 57—
Present Tense—cannot
Past Tense—couldn’t

(i} cannot 7 could not F o1 ot we vy & T Present
fense # do not, does not, will not qa7 Past Tense # did not,
would not & g R A wear &)

step (7} be & T4 & (W57 & ganfares) |

Step (8) : for @1 &21 & |

step (91 9g® a/an + Noun &1 sdnr &% |

(iii) =TT & gmﬁa; 4 W T % 357 bear, express, catch
77 other Verbs &1 51T fear @1 wepar &

T steps & TANT BT IS I F ‘too’ B B werm
lq-g] %, o T—

| He is so dull that he cannot be a sportsman.
| I am so slow that 1 cannot be a runner.

WA # I A T, 9 A fFEw
He is too slow to win the race.
He is so slow that he cannot win the race.

He is so slow that he will not win the race.
He is too innocent for a leader.
He is so innocent that he cannot be a leader.

He is too dull for a worker.

He is so dull that he cannot be a worker.

She is too proud for an ideal citizen.

She is so proud that she cannot be an ideal citizen.
His sorrow is too deep for tears. o
His sorrow is so deep that he cannot express it in
tears.

She is too old for the government service.

She is so old that she is not fit for the government
service.

Rule (3) : fx sentence— ‘Subject + Verb + too + Adjective
*for + Pronoun (Objective Case)'% structure T arenfta &, a1
100" %1 27 e WA B . ’

T steps 71 follow v gY 41 frd mg e & ‘too’ B Rew
TR Wz B | wd o A R
™ E

Itis too hot for me. )

It is so hot that 1 cannot bear it.

The night is too cold for me. "
The night is so cold that I cannot bear it.
He is too strong for me. A
He is so strong that I am not ““’td'f for him.
He is 50 strong that I cannot face him.

The coffee is too hot for me. : -

The coffee is so hot that 1 cannot take it.
The water is too cold for tis.

srafeflr aredl # & too #1 werd #wy for % #1g 9 Objective
Case & Pronoun #' Subject a=mar mar & | dar # and qreeRt T
BT ¥

Rule (4) : af? sentence-‘subject + Verb + too + Adjective
+not + Infinitive (to + V' ) + other words’® structure 7 STaIa
B, ‘too’ &I 39 FHR werar @A
o

The landlord is too kind-hearted not to forgive her.

The landlord is so kind-hearted that he will forgive her.

My younger brother is too intelligent not to understand

the matter.

My younger brother is so intelligent that he will

understand the matter.

Mohan is too active not to work.

Mohan is so active that he works.

Mohan is so active that he will work.

The room is too large not to accommodate all of the

students.

The room is so large that it will/ can accommodate all of

the students.

My younger daughter is too intelligent not to understand

it.

My younger daughter is so intelligent that she will

understand it.

Rule (5) : a2 sentence—"Subject + Verb + too + Adjective/
Adverb’@ structure 7 THTRA &, @ ‘too’ HI T4 YT BT AT
gl

Step (1) : g subject + verb &1 wanT &7 |

Step (2) : too &Y &1 &

Step (3) : g Adjective/Adverb &t Comparative form
§ wuw 5T Bl |

Step (4) - g8% @€ than &7 w90 &Y, 7 % that @11

Step (5) : than & a® satgar should + infinitive without
‘to’ / should be + Adjective, it is proper (Present Tense & #e)
a1 it was proper (Past Tense & |19) @& warm 7 |

Note : (i) 7%37 % g@f&& should have, should have been
&1 gar | e o wwer &)

(i) I structure 97 AN sentence F ‘tow’ ¥ ¥21d w8

. ATTH! A48T | confusion (B B, 41 Tense % qafas wita wg

®T@ o e @4 Fre it is proper or it was proper st ity
&1 | 0\ & ° ST (mistake) 7 Enfi
z7 arEyt #3514 St wEs .

Mukesh runs too slowly.

Mukesh runs more slowly than it is proper.

Mukesh runs more slowly than he should.

Veena is too weak.

Veena is weaker than it is proper

Veea is weaker than she should be.

It is too hot. ;

It is hotter than it is proper,

It is hotter than it should be.

Mr. Thakur talks too much.

Mr. Thakur talks more than it is proper

~ My Thakur talks more 1hai be ahraild e
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The weather is too cold.

The weather is colder than it is proper.

The weather is colder than it should be.

He is toa ignorant. o

He is more ignorant than it is proper.

He is more ignorant than he should be.

Rule (6) : 4% sentence— Subject + Verb + too + much

+ for + Noun /Pronoun’&structure 77 ATHTd #1 Faitoomuch &l

e ey AT #, A1 too much &1 so bad or so shocking

azm & e | Aa—
It is too much for us.
It is so bad / shocking that we cannot bear it.

It is too much for her.
It is so bad / shocking that she cannot bear it.

#fa,
I was too much distressed to be able to speak.
I was so much distressed that | was not able to speak.
Rule (7) : 1 Bt 7 avdi % = A apomds &0 o7 2
oo’ &1 T o w=r T B
“Too' F1 ¥=19 # o &fi-aft extremely, excess, beyond a
rtain extent, excessively, beyond limit, enough, over, more
an enough /more than proper, beyond the proper limit, to
fault. znfz &1 warr &1 fe wAr & | F—
She is too eager for praise,
She is over eager for praise.
This student is too attentive.
This student is over attentive.
He ate too much.
He ate more than enough.
She is being too kind.
She is being extremely kind.
Too many cooks spoil the broth (7za # #rfi 72 a=7)
An unnecessary large number of cooks spoil the broth.
She is too gentle.
She is over gentle.
Too much of everything is bad.
The excess of everything is bad.
[t is too dangerous to be good.
It is dangerous to be good beyond limit.
Drinking water cannot be made too pure.
Drinking water cannot be made pure beyond a
certain limit.
You are too gentle.
You are gentle to a fault.
or, You are over gentle,
Nuote : (i) Adverb “too’ & a7 Infinitive (Lo + V') %1 gam
B, A1 “too’ T AWITEE 54 (negative sense) ¥ B
(i) Adverb “too’ & @ Infinitive (to + V') &1 gdpr 7 ¥
100" &1 WH excess (Hfaaa) 2 )y
Rule (8) : a7 sentence- ‘subject + Verb + Very + Adv./
Adjective + and + other words'& structure 97 smfes # At
- very @1 enough &1 % &1 g2rn st b A very a1 wam
O Adverbd w1 # Adjective & w2 fra ¥, 9aiE enough 5 wine
| U Adjective Adverb & am A &1
st e (arane). e €5 very 9 ¥27%T enough w adim
o gy wwErEs T, o :

W ‘.ﬁﬁ: . J w13 l_‘, ot
1 . He'is very tall and can touch thevclulmg fan. %
He is tail enough to touch the ceiling f‘m.‘ X

The girl was very strong and cqlzld lift the box. 1

The girl was strong enough to lift the box.” " 3

The poIi'ceman was very brave and could cat.ch the ?‘a. ‘f

The policeman was brave enough to catch th“.:-ﬂ'\i{-'f

Rule (9) : af% sentence—*Subject * Verb + s0'+ Adjécti,;
Adverb + that + clause @ structu |

=
’ to’, enoughmn&mwwmmm% .H;.rpﬁ.é&

re T TATA B AT S0k

= e e

&
o]
£
b A
L |
LS THT e AT T

He w;as so hungry that he could ea:‘lﬂ"}’.t}‘iﬂg'.
He was too hungry not to eat anytlung.;_
He was hungry enough not to eat anything,
This purse is so large that it cannot go in my pocky
This purse is too large to g0 in my pocket.
This purse is large enough to go in my pocket,
Rule (10) : “Too — to’ & 5@t &% a4t sentences 1.3 m;
combine (FreT =rar & 1) faar Smar i o
7 gl F1 24d : 3
Th:e old man is tired; he cannot walk to the statim
The old man is too tired to walk to the station: i
The news is very good; it cannot be true.
The news is too good to be true.
He is very ill; he cannot go to college today. |
He is too ill to go to college today.
Rule (11) : Infinitive (to + V') & 9217 %7 &1 sentences & &
T combine (ArET AT §) fFmm s &)
Binay went to the shop. He wanted to buy a patr of shos’
Binay went to the shop to buy a pair of shoes.

e

1 switched on the radio. T wanted to hear the news.
I switched on the radio to hear the news,

The girls went to the zoo. They wanted to see the et
The girls went to the zoo to see the lions. ?
He went to the park. He wanted to pluck the flowess.
He went to the park to pluck the flowers, Y

ST S T e S AT < MO I

Practice Set
Q. 1. Remove “ton” from the i 'r'|'r?T-\'::'.=.='_ -L"_.'.r'm-‘- Y el
or,  Rewrite the todlenvinygg sentopces, wsing A0 ""v-=-'"‘1'--'-"-;':.h.
\dverh 1o : gy

L. You are too poor 1o help me. 4
2. Mukesh is too Late to Cateh the train - 3 :
3. Itis never too Late 1o mend, S
:l. He will be too late 1o reach the sehonl 1n titnge.
5. He s too intelligent 1o need a tuvtasr, ? 57 ?F
6. This tree iy toa high for ot tlimh e
7. The load is too heavy fur her to L,
8 Heis too weak to tan fase, I
91t weas ton Mot bop s te oy g,

FO. This ted is oo hiot for soe Wi dyiuk,

1i, These apples are oo g !Ii.‘-t1,;' t1y b prail. ki

12, The Box i too hsan v fiop i b ?.sf;'

13 This coltes s tha hot .i'“i- Tt II.I._:_’ gk

14 He b w bt 10 gox L;'p_l o i,

x5

Bt mpreaks foo ft 60 be inderston, Lo
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he ¥ eather s oo coid to RO out,
The TOUM i« towdatk to see anything,
i ix toer dithcult for me to learn,
gaginh s to0 selfish to be a friend.

vhe fruit is oo sour to eat,
i-it' s o In.'le‘.l\'

you are oo dull to qualify

Ihh" \\"l'"lltt‘_‘]'l, ekminaunn
wo dull tor a nurse. :

she s
ghe is 100 ugly.

rhe night is too cold.

gt is too much.

Ajit s 100 slow to win the race,

The storm was too much for us,

Mz, Prasad is too weak to address the

people.
she is too proud to learn.

Mr. Chandra Kishore Thakur arrived at the
: . sta
M G § tion too late to

~ He is too dull to succeed.

She was too late.

~ she is too young to do this work,
3. Mount Everest is too high for us to climb.
;. The sight was too dreadtul to be seen.
37, He is too ignorant for a clerk.
. This fact is too evident to require proof,
. Heis too proud to beg,.
. He is too clever not to see through your tricks.
. These oranges are too cheap to be good.
. He is too shy to ask for help.
. Monika is too late to hear the first speech.
. "She is too weak to play hockey.
. My elder daughter is too weak to stand up.

46, She is too old for me.

. The result was too bad to be published.
. This pencil is too small to write with.

. She is too late for the train.

. I'was too fat to stand up.

. She is too late to hear the lectures.

Gandhi’s words were too true to be disbelieved.

. He is too kind-hearted not to love his enemies.
. She is too fat.

- Heis too dull.

- Anshu ran too slowly.

- She is being too kind.

. Mukesh runs too fast.

- The coffee was too hot.

- The milk was too hot.

- She is too attentive.

- Too many cooks spoil the broth.

- My brother is too kind not to forgive hs_:r.
- The bridegroom is too young for the brid:
- Sudhir is too honest to be a successful bus
- Itis too much for me. )

- The wall is too high for her to jump 1t-

e.
inessmarn.

He was too gentle.

+ Itis too much for us.
- She ate too much.
Q.2 Rewrite the following sente.

Aland comparative + than it is proper/ it
imple ; She is so tall that she cannot g0 in

/it was proper.
the room.

. She s too tall to go in the room -
Itis 5o hot that one cannot go out.

nces using "too instead of s

TN R AR it

He was so tired that he did not do that wark.

He is so proud that he cannot beg.

The coftee is hotter than it is proper.

He was so poor that he could not buy the book he needed.
He is weaker than he should be.

Her conduct is so bad that it cannot be mended.

She is so selfish that she cannot be an ideal woman.
Human life is so short that it cannot be properly enjoyed.
She is so clever that she cannot be cheated.

11, She spuke so slowly that we could not hear her.

12, Milton was so great a writer that he couldn’t be over praised.
13. The room is so dark that I cannot see anything.

14. The problem is so difficult that I cannot explain it.

15. This box is so heavy that [ cannot lift it.

16. It is never so late that it cannot be mended.

17. You are so lazy that you cannot walk.

18. He is so proud that he cannot beg.

19, You are so young that you cannot understand.

20. The hat is so large that he cannot wear it.

©E NS SN
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Q. 3. Rewrite the following sentences, using “too’,
Example : The milk is very hot; | cannot drink it.
The milk is too hot to drink.
The milk is too hot for me to drink.

ge goer TH B fF 7 o 7€ qewer/

Binay is very lazy; he cannot get up early.
The mountain is very high; one cannot climb it.
English is very difficult; I cannot read it.
Veena is very stupid; she cannot understand.
The news is very good; it cannot be true.

It is very hot; we cannot go out.
The sum is very difficult; [ cannot solve it.

She was very clever; she could not be cheated.

9. The shirt is very old; I cannot wear it.
10. The curry is very hot; I cannot eat it.

g ey B B3N

Q. 4. Rewrite the sentences, using enough or too ..... to instead of
50 ... that and very.
Example : He was so busy that he could not attend the meeting.
He was busy enough to attend the meeting.
He was too busy to attend the meeting.
He was very strong and could not lift the cot.
He was very foolish and he believed everything I told him.
The hall is so large that it can accommodate a hundred guests.
He was very rich and could afford to keep five servants.
The dictionary is so big that it cannot be read in few hours.
You are very clever and could answer any difficult question.
He is so intelligent that he can solve any mathematical problem.
He is so weak that he cannot walk.
The book was so difficult that [ could not understand it.
He is so young that he cannot go to school vet.

5

3
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Q. 5. Join the following pairs of sentences by using Infinitive (to +
v
Example : He went Lo the library. He wanted to borrow a book
He went to the library to borrow a book,

1. Nilu waorks very hard. She wants ie win a scholarship

2. Sweta went to the market. She wanted to buy some fruits

3. Bhavana and Rima went to the station. They wanted o receive
their uncle.

4. She went to the post office. She wanted (o buy some stamps.

5. Ghe went to the botanical garden. She wanted to see the
monkeys. ey

6. - His mother went to Dethi vesterday. Her object was tu vish the
Red Fort.
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226 i General English
7. The girls went to the beach. They wanted to have a picnic. 15, He is too worried about his fal!in‘g h‘""_‘lth"
8. 1went to the hospital. [ wanted to see my uncle. 16. 'He speaks too loud net to be heard miles away.
9. Iswitched on T.V. | wanted to listen to the news. 17. He is too good to kill anybody. :
10. He switched on the bulb. He wanted to write something,. 18. Our publisher trusts his manager too much,
Q. 6. Transtorm the following sentences. without changing the 19. He is too weak to carry this load. . e,
meaning by emoving “too. i 20. Her voice was too feeble to be heard. Pl
1. The questions are too easy. Q. 7. Transform the following sentences without t"h.'mg;;;!: p
2. The wall is too high for me to climb. meaning, by using 't0o.” ' e},
3. Your teacher is too honest. 1. She is so simple that she will be easily cheated. b
4. She is too selfish. 2. The two girl friends are so close that they cainot b'j’ EeFara'aQ
5. They are too dishonest to be trusted. 3. The task was so difficult that they could not ﬁm"‘_}" LR
6. This flower is too beautitul not to attract the attention of all. 4. The natural scenery of Rajgir is s0 beautiful that it attracts y,
7. He lives too far away to meet regularly. 5. The sun is so hot that we cannot go out. i
He is too honest to cheat others. 6. My father is so good hearted that he cam:lot harm Olhprs. .
9. You are too slow to catch him. 7. The central government is so unstable that it cannot dﬂ&n?tm&
10. He is too selfish not to let you down. 8. My younger brother is so slow that he does not_dﬂ any thingimiﬁ
11. She is too wicked not to harm others. 9. The burden is so heavy that I cannot carry it. %
12. Our politicians are too dishonest to do any good to the nation. 10. You are so nice that every body likes you.

13. He is too slow to complete the project in time. 11. He is so proud that he will not beg for mercy.
14. Heis too meek to harm anybody. :
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